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» 2HE, =E Y DY OlMrE el & 2 XH01JF 8L RULE.

= m?E Olats== XMl 367.5014, HE-IF 412.801A422 Xl 45.3014¢
(9.3%)01 H UL

= e, 5= 2 10008s% Ml+ £ A28 X0[JF I E & X & RUALE.

= =2 X2l 498.1kg/10a2 2 HE 2 ==& 573.5kg/10a0il HIoH
75.4Kg(13.1%) 2202 H |RAL0| AHEJACHE 1).

H 1. 8o dg 9 2 EY (55, 2%, 2019)
|.

1t =73 EI1F  OfAf= == smE JNMESs =2k
(cm) (cm) Of 4} /m? =R (%) (9) (kg/10a)
O =3 92.66a? 16.72a 28.36a 412.75a 72.16a 97.75a 23.65a 573.5a
e+t 98.40a 17.00a 26.50a 367.50a 70.3la 95.75a 23.04a  498.1b
Pr>F nsy ns ns * ns ns ns *
LSD 10.78 1.86 3.25 23.25 12.45 1.83 0.51 25.24

Z Means with the same letter are not significantly different at 0.05 probability level according to LSD.

¥y, *, ** Nonsignificant and significant at p=0.05, 0.01, respectively.



g HENE s B 45540 M|+ H =+ 72X K

sdE d S M =20 72/H el Xo|7F SR

0, 10a & XN2| 72| 42k 2482.6kg, CHETF= 2725.2kgS LIEILHUCHE 2).

B2 dNol 45 8 =3 54 (2019, 85 28)
x5 =y OA =719 1|8 =7\ AZS (g) REV I
T @ 4 e oy HEE S oy H&E 1BT S5 (k9/1CE)a)
(mm) ©°o=° A om o A (kg/10a)

CH= 53.87ay 14.54a 11.48a 3.00a 2.56a 391.13a  99.48a 5.56a 211739 2,725.2a
Me|7+ 54.97a 16.61a 11.39a 3.54a 1.54a 347.10a 100.21a 5.08a 2067.22 2,482.6a

Pr>F ns ns ns ns ns ns ns ns ns ns
LSD 6.75 313 2.31 043 4.47 120.87 7221/ 453 252.8 302.46

z: Significant at p = 0.05, 0.01 respectively; ns: non-significant at 0.05 probability level
¥: Means with the same letter are not significantly different at the 5% level by DMRT



6. 45917 A

—

6.1.3 H = (HIEf=of¢|, 2E)

. HjZo| Mg A

d=5d¢
SAH 72X 210] Xt0| 7} G RALE.

= XNHES Y +=ZH(Kg/10a) 2| H QI XIO|7F AUCHE

Syl RISEE, HEY, HENY L ¥4 25 N2 7t

CHz=

B3 HiFo ¥ 8 £+ £9 (2019, 55 23)
N

HY ==& HY == &1 4 =2
—I?— X|—6|_|=|7< o A X|A|-5§
TE e (cm) (cm) =T e (kg/10a)
CH = 44.22a? 40.55a 18.33a 47.33a 1930.2a 6433.4a
SEEY 42.08a 39.57a 16.11a 46.44a  1801.3a  6003.7a
Pr>F nsy ns ns ns ns ns
LSD 4.96 5.09 21.68 10.39 547.63 1825.2

z Means with the same letter are not significantly different at 0.05 probability level according to LSD.

yns, *, **, nonsignificant and significant at p=0.05 respectively.



31.3g(11.7%) U2, sAHE 2= Xt0|7F QI & RILCE.

= 10a & =2 M7 =7 SAH 72Xl Xt0[S LIEFHCE M 2|7t

o T o'

LHEMO| O} AAXI AL M| 792mmO| B8 CHETRZF 75.5mmE N 2|77}
3.7mm7f AR e, 28 XE2[+7t 236.6g2 2 L= 267.9901 H|SH

5913.8kg/10a2 = Lz 6697.2kg/10a0]| H[SH 783.4kg/10a(11,7%) 20| HUCHHE

4).

H 4 4oto| M S #=2F EM (2019, M LtF)

=3 Hl &S

AFIZ A

IL
om o

- = C R i x
(bulb/10a) (bulb/10a) (kg/10a)

=3  46.29a 6.42aY 79.21a 267.88a 19,800.0b  5,200.0a 5811.55 6,697.2a

M2|++ 42.18a 6.46a 75.50b 236.55b 20,168.6a  4,831.3b 5383.93 5,913.8b

Pr>E ns ns %z - x * x -

LSD 15.14 1.05 1.65 12.94 217.05 217.05 288.0 323.65

Z : Significant at p = 0.05, 0.01 respectively; ns: non-significant at 0.05 probability level
¥: Means with the same letter are not significantly different at the 5% level by DMRT
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= 39| 20|, &g, g H XdF T2 SAH2E 72|40 2IEE[X]

» XSRS 2 Me[17F 82692 2 =~ 1121.0g0 H|BH 2959(26.3%) U

= 10aY =S M2+ 3,561.2kg0ll HISH CHEF7} 4,725.3kg2 2 N E| 7t
1,164.1kg(24.6%) 20| HUA2H, SAH2Z F2|ot At0|F EALCHE 5).

Oorot[C
LS )\A

OH, A

25 7945 8 =& 54 2019 55 2¥)
e NI Z0| SR o INFSES =
(9) (cm) (cm) (9) (kg/10a)
O = 1,121.0az 20.96a 9.0la 19.67a 219.25a 4,725.3a
X2l 826.0a 18.63a 8.89a 19.33a 220.21a 3,561.2a
Pr>F ’ nsy ns ns ns *
LSD 531.2 2.71 2.31 2.80 52.25 1,026.3

zMeans with the same letter are not significantly different at 0.05 probability level according to LSD.

yns, *, ** nonsignificant and significant at p=0.05 respectively.
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. _;E;g. gjl %;:—l e e 7|:|I-X|'3 %l:(g) J——Il 7c:>| _jg_ < (kg/lOa)
= (cm) T (mc;n) A}IT H| AbZ H| AbZ T 14
°ME EE a=4 EE =g | 84 g
o o o
CHZ= | 41.0b | 13.0a | 10.4a | 5.4a 2.2a 592.2a 67.8a 7.6a | 660.0a | 2,463.6a | 2,745.6a
et | 43.6a | 13.9a | 15.3a | 5.0a 2.3a 501.0b 68.4a | 7.3a | 569.4b | 2,084.2b | 2,368.7b
UFMHH | 44.2a | 14.0a | 11.1a| 49a | 1.9ab | 493.2b | 46.73a | 6.8a | 539.9b | 2,051.7b | 2,246.0b
ENS | 43.9a | 13.8a | 11.0a | 5.1a 1.3b | 534.3ab | 33.27a | 6.4a | 567.6b | 2,222.7b | 2,361.0b
Pr>F * *k NS NS * * NS NS *2 * *
LSD 2%99 0'%02 - - 0.6723 | 79.595 - - 109.59 389.5 455.9

z: Significant at p = 0.05, 0.01 respectively; ns: non-significant at 0.05 probability level

¥: Means with the same letter are not significantly different at the 5% level by DMRT
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H7 44 HE S E

e ab BE CHIE XY EASIE BIERDIA  HEFDIC (mcz (/‘;g ;3
. (0100g) (¢/100g) (9/100g) (¢/100g) (9/100g)  (#9/100g) (mg/100Q) /1009 /100g)  /100g)
CH = 79.8aZ 1.39a 2.64a 0.14a 15.88a 0] 0.11a 8.93a 322.0a 11.70d
QlHtsd  80.7a  1.10b  1.87b 0.02c 16.25a 0 0.01c 9.73a 305.3b 19.46a
FH& g11a  1.37a  1.69b 0.09b 15.64a 0 0.07b  9.73a 200.0d 14.87c
ENls 809a 1.24ab  1.78b 0.06bc 15.95a 0 0.05b 9.74a 252.3¢c 17.18b
Pr>|: NS * *% *% NS _ * NS *% *%
LSD 5.09 0.177 0.320 0.031  1.102 0 0.047 1.056 4.830 2.195
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8 HiF 45 3 S8
_ S
T = X|oH& Ticm)  T=(cm) =E TE(9)
(kg/10a)

CH=+ 42.3a 27.86ab? 17.00a 34.33a  1382.87a  5122.0a
st 42.0a 28.16ab 15.00ab  29.43b 1183.00c 4381.8c
Iy 44.2a 29.76a 14.23b 28.06b  1219.57b 4517.0b
£aby 43.1a 27.40b 14.30b 30.10b  1271.10b 4708.2b
Pr>F NS NS + i *k *ok
LSD - - 2.3912 2.5289 81.498 301.83
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TE W (Cd) (H) (Pb) @ @6 (N Zn)
(mg/kg )

CHEL 206c 0.11c 0.150a /07a 36.33a 129 1350a 1563a 4493d
QlH}sy 191d 020a 0.140a 693a 34.03b 187a 1313ab 1487b  55.13c
oY 268b 0.12c 0.123b 5.64b 31.23c 098c 1300ab 1330c  57.30b
EjrA 325a 0.14b 0.136ab 5.24c 30.10c 1.01c 1223b  1263d  6253a
7|& 250[S} | 40|38t | 408t | 2000(3t - 50[St | 15008} | 1000|3} | 3000|5}
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¥: Means with the same letter are not significantly different at the 5% level by DMRT
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